Opérations avec deux fractions mixtes (G)

Nom: Date: Note:

Calculez chaque résultat.

1 5§+1% =
2 5§+1% =
3 5%—21%=
4 I%XS% =
5 52+3%=
6 5;><11—15=
7 5%+2% =
8 5§+1— =
9 5%—11—25—
10 I%XS% =
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Opérations avec deux fractions mixtes (G) Réponses

Nom: Date: Note:

Calculez chaque résultat.

) 56+11_41+8_41+8_49_ 7 .
7 7 7 7 7 7 7 1
L 2l o174 174 a7
373 3 3 3 '3 3 1

2 9 27 29 54 29 25
5 10 5 10 10 10 10

1 1 4 21 84
3 4 3 4 12

3.,9 2339 23 10 230 _ 115 _ 37

ST T A0 3 %% T 16 - 3 78
st l 39 16 &4 208 33
7 15 7 15 105 =~ 35 735
1 1 11 5 11 5 16 8
Rt = Sy = gt =5 =7 =8
G s2.q2 _ 47,5 _ 47 3 141 47 2
9 3 9 "3 975 7 45 = 15 15
4 2 29 17 87 17 70 14
A T R T R R R
1 1 6 11 66 33 3
0 1gXsy = X— = 33 T 5 T 0
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